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import sys
sys.path.append("statlib")
from xtest import median_test

median_test(x, g=None, verbose=True)
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import sys
sys.path.append("statlib")
from xtest import median_test

= [3, 2, 4, 2, 3, 5, 4, 3, 3, 1, 3, 4, 5, 4, 5]
[, 1, 2, 1, 3, 3, 1, 3,1, 2, 2, 2, 1, 2, 2]
a = median_test(x, ¢)
median test
overall median: 3
[[4 2 2]
[2 4 11]
chisq = 1.6071, df = 2, p value = 0.44773
b = median_test ([
[83, 91, 94, 89, 89, 96, 91, 92, 90],
[91, 90, 81, 83, 84, 83, 88, 91, 89, 84],
[161, 100, 91, 93, 96, 95, 94],
[78, 82, 81, 77, 79, 81, 80, 8111)
median test
overall median: 89
[[3 7 0 8]
[6 3 7 0]]
chisq = 17.543, df = 3, p value = 0.00055




